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SECTION 4,‘4@ MARKS),
ANSWER AL (}Lg‘g TIONS IN THIS SLCTION.

1. The food chain below shows feeding 1@%‘“011 ships of organisms in an ccosysten.
Grass — Grasshopper —» Lizeg@% — Snakes

a) Me &
) Mention one other method of %L&cnluw feeding relationships in organisms listed above, (2 mks)

(2 mks}

1) Lizards ... Q}? ...........................................................

| K R e R
11) Grass N
)W hﬁ?{ organisms would have;
owest biomass? Pk

(1 mi3

NS

Q;QJ ................................................................................................................................................................
Q&
&Q, 11) Give a reason for your answer in ¢ (i) atove.

IV Sfatea fhe - T A T : I : ,
d) State the economic impertance of denitrifying bacteria in the nitrogen cycle, (2 mks)

b) Explain why certain bacteria and ot

pathogens become resistant to drugs after long periods for
Use, .

(2 mks)

¢) Using a Punnet square work out a cross between a haemophiliac man married to a woman who is a

carrier to the haemophilia gene. (3 mks)
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)
d’ otate the phenotypic ratio of the a,hmhf*-} 8o i} mgms family, (1 mk)
@
AR R 3
\Q ...........................
3. Soaked beans seeds were put in a flask (&1 inverted 1n a beaker containing Potassium hydroxide as
shown,
ng_el mnmtms peas é E)
—retort {lasks ‘\—I/
; 5 TR (T e
pofassiung
hydroxide
Al bQ@immw of experiment B. end of experiment
(2
-2} What was QlcQ:_ﬁm of the experiment, {1 mk)
2 ; ;
.
b) Wkt was the role of " Potassium hydroxide in th ¢ set-up? {1 mk)
2
R
% ; : ;
¥ ¢} Account for the observations made at the end of the experiment? {3 mks)
QO

est observaticns that can be made if water was used instead of Potassiwm hydroxide

What would be a suitable contro] for this experiment.

4. a) When testing a green leaf for presence of starch, chlorophyll is first removed. Explain. (2 mks)

1 Study the scheme below that shows the patterr: of production of energy in a green plant.

Lightenergy + Simple organic substances -3 Rezction A.

H!gh energy value compound + oxygen

/ . ; pal -
/‘ and other inorzanic substances

Light energy + Simple chemical elements -----—-> Reaction B

1) Name the reaction labelled A and B,
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(1 mi)

2 , . O
i1) Mention fyg inorganic substances needed gg?’rcacuon Ao oceur,

................................................ oF
<
¢) 1) Suggest the identity ofthe Ligh energy organic compound. (1 mk)
e . S— R
alue compound and 0x7

5N
i) Write a wordbequation for the reaction that produces the high energy va o
' _ (1 ml

laced in a horizontal position as shown. One seedling was

&
to the same light intensity for four days.

eedlings were p

E,Céﬂso potted see
zlinostat. Both seedlings were exposce

N

P

gl ;
CL-Ups.

2) Identify the type of response demonstrated by the two s

i
—

s and B above.

ifisnd
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.4} Using the graph paae?}_arm-'ided

N

i ; )
iCompulsory) o
L s 1 + FrRe iy i 3 4 : %“ A z - 3
A experiment was carried ouf to determine thgselfect of drinking excess amount of water oh urine
out put in a healthy person. N
He drank one litre of water and urige rc‘i&‘%ed was collected at intervals of 30 minutes. The results
were recorded 1n g table below., {oQ;Q
5 C ; " .
'Time in minutes 0 30 @%?J 90 1120 1150 {180 |210 lz40 |27 300 5
: S | .
- PTG 5o i s - ] T
Urine cutput mbimin |1.5 §‘§v 1.6 128 180 190 189 186 {56 |10 08 |
A h R SOR |
R

Hne.

plot a graph of urine output against t (6 mks)

b it ch . || |
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bi ‘f\-"ﬁ'ﬂ—l rci'eg-nnc_r_\ O 11 Ry 5 = My o
¥ PR IRARSCHILD 10 INE Org J}_l hi{\_}l"’d aoCOnr P 2 rate of 1 ~i1ir ' =
. S gtapn piotied, account {oMthe rate of urine outpul hetiwve
- 1) 0 - 60 minutes & s pul between; S
o {2 mks)
R
ettt AR e
BN rrrm e s S SRR g vy
2
PR L R
................ T s S s prasensaa s
. N
i1) 90 ~ 150 minutes 2 (2 mks)
= IS
& - .
................................... y \:.\:.,.,.
I
i) 240 - wUOémnutes 2 mi
(£ MKSs}
e\
................. T
T
...... D
Q‘%’ ............................................................................................................................................
& té@scribc the process of urine formation in the kidney nepliron {8 mks)
<
Q} ....................................................................................................................................
B i il -
Q U i yeeessans
§& .........................................................................................................................................
QO& T A ARrdmmammsaeeense e e e R A S B B R B B R R Y e B T L S R S L S D S SR e R s
7. a) Explain how support is attained in terrestrial plants. (13 mk
bj Describe the functions of the endaskeleton. (7 mks)
8. ay Describe the process of fertilization and implantation in the human female. (10 111"'*¥
b} Describe how a piece of starchy food is digested in the human digestive system. {10 mks)
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